S T @ .
s ‘ ’ tan WHERE MONEY COMES FROM.™
A DOVER)

TDM-100/150 To NM D-50
CONVERSION PROCEDURES

(MopeL RL5000 ATM)

TDN 07102-00062 03/2005

CORPORATE HEADQUARTERS: RMA (RETURN M ATERIAL AUTHORIZATION)
RETURN ADDRESS:

522 E. Railroad Street 21405 Avenue “B”

Long Beach, MS 39560 Long Beach, MS 39560

Phone: (228) 868-1317
Fax: (228) 868-0437

COPYRIGHT NOTICE

© 2005 Delaware Capital Formation, Inc. All RightsReserved. TRITON, TRITON WHERE MONEY
COMES FROM, TRITON WAVES, DOVER and DOVER logo are registered trademarks of Dela-
ware Capital Formation, Inc., awholly-owned subsidiary of Dover Corporation.




TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

PurPOSE

Thisguide coversthe stepsfor replacing your TDM-100 or TDM-150 dispenser in the Model RL5000 ATM with an NMD-
50 multi-cassette dispenser. This procedure includes alist of all tools and hardware necessary for the conversion as well
asthe stepsinvolved.

ScoPe

This procedure applies to all service personnel involved in the process of maintaining or converting Triton ATMSs.

APPLICATION

The two (2) conversion kits available depend on the Model RL5000 unit cabinet you currently have. The following
guidelines will determine which kit is required to upgrade your ATM:

» Units built with serial numbers Before L RL 5111042931385 require kit P/N 06200-00104.
These cabinets are identified with a vault door “T-Handle” installed.

» Unitsbuilt thereafter require kit P/N 06200-00103. These cabinets (current) areidentified with
avault door “Lift” handle.

How to Deter mine Unit Builds

To determine when your unit was built, the serial number (located on the
affixed label inside the control panel) has a “julian” date located in the
block of numbers. For example, in the serial nhumber mentioned above,
LRL5111042931385, the “04293" is the year (04) and julian day (293th
day of the year) that the unit was built.

Section 1 - This section covers the conversion procedures with older style cabinets (P/N 06200-00104).
Section 2 - This section covers the conversion procedures with the current cabinet.

s Triton:
s r’ an WHERE MONEY COMES FROM.™
A THOVER) comeawr



SecTioN 1 - ConvERsION WITH “OLDER” STYLE CABINETS (W/T-HANDLE)

ReQuUIRED PARTSAND TOOLS

TOOLS REQUIRED

Slotted and Phillips Screwdriver
11/32" (9nmm) and 7/16" (11 mm) Nut Driver

TDM to NM D-50 CONVERSION KIT (P/N 06200-00104)

" T-Handle" Cabinet

PARTS SUPPLIED

PART NUM BER

DESCRIPTION

QUANTITY

09200-00009

Power Supply

1

09005-00120

NMD-50 Mechanism (w/2 Cassettes and Reject Vault)

03011-02032 Bracket, L-shaped, Slide Stop
02054-00209 Screw, 4mm x 10mm, Low Profile, Slotted Panhead
03011-00104 Handle Bracket (Dispenser)

01060-00416

Connector, Quick Connect, Molex

03072-00009

Clip, Panduit Adhesive Cable

03082-00000

Custom Slide, 18"

03011-05023 Slide Spacer Bracket
09600-00057 Data Cable, EJ to Mech
09120-00117 DC Power Cable, NMD-50

09600-02036

EJ Module, Yellow

03011-00389

Bracket, EJ

09120-00367

Ground Wire, NMD-50

02302-00005

Hex Bolt, 1/4-20 x 3/8", Zinc Sted

02309-00016

Lock Washer, 1/4", Zinc Steel

02301-00037

Kep Nut, 1/4 - 20

02054-00048

Screw, #8-32, 3/8", Truss Phillips Head, Zinc

03072-00015

Ty Wrap

03072-00019

Flat Cable Clamp, Adhesive

03072-00002

Snap-in Connector, Plastic

07100-00024

Model RL5000 Quick Reference Card (NMD-50)

07102-00062

TDM to NMD-50 Conversion Procedures (RL5000)

Rrlrlrlrlo]|lod]w]lw]lr]lr]lr]lr]lr]lrINM]olRr]IN]O]R]-

I [ J
& Triton.
WHERE MONEY COMES FROM.™
OVER

ATDOVER) conpurr




TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

DisasseEmBLY PROCEDURES

Before proceeding, follow these steps to remove power from the ATM:

Enter Management Functions > System Parameters > Shut Down the Terminal. When prompted, turn power OFF on the
ATMs power supply. Unlock and open the ATM control panel. Turn the power switch to the OFF (0) position. If possible,
unplug the ATM power cord at the wall outlet.

1. Power Supply - Open the control panel. Disconnect all cables (AC/DC) from the terminal power supply (Figure 1).
Lift the control panel slightly. Using an 11/32" nut driver, loosen the two (2) nuts that secure the power supply to the
cabinet (Figure 2). Slide the power supply towards the rear of cabinet and remove from the unit.

Figure 1. Disconnect all cablesfrom power supply. Figure 2. Loosen the 2 nuts that secure power supply.

2. Dispenser Cable Harness - Using a 7/16" nut driver, remove the screw that secures the ground wire (Figure 3). After
removing the ground wire, reinstall the screw. Next, disconnect the Dispenser data cable (RJ-45 end) connected to
the Docking board assembly. Loosen/turn the cable bundle guides (Figure 4) and separate data cable from bundle.
Feed the dispenser data, power, and ground wire harness down to the vault area through the cable access hole in
Figure5.

Figure 3. Disconnect ground wire. Figure 4. Loosen guides. Figure5. Feed cablesdownto vault area.

3. TDM Dispenser - Open the cabinet vault door. Release the locking sliderail and fully extend the dispenser from the
cabinet. Rotate the dispenser mounting platform 180° to the “ Service” position. Locate the spring-loaded locking pin
on the underside of the mounting tray (Figure 6). Pull the pin down and turn the tray clockwise (Figure 7) so the note
and reject cassettes can be accessed from the front. Release the locking pin and move the platform back and forth
slightly to ensure the pin snaps into place to the “ Service” position (Figure 8).

Figure 6. Pull release pin. Figure 7. Rotate mechanism* clockwise”.  Figure8. Mechin* Service” position.

G- & 4
s‘ Tr’ tan ?VHERE MONEY COMES FROM.™
. compay



SecTioN 1 - ConvERSION WITH “ OLDER” STYLE CABINETS (W/T-HANDLE)

4. Disconnect the power and communication (Comms) cables from the dispenser (Figure 9). Carefully cut any Ty wraps
that are securing the cablesto the dispenser. Remove the cablesfrom the cabinet. Remove the note and reject cassettes.
Using a phillips-head screwdriver, remove the four (4) or six (6) mounting screws that secure the dispenser to the
swivel platform (Figure 10). Remove the TDM dispenser mechanism.

Figure9. Power and Comm cable disconnected. Figure 10. Remove mounting screws.

6. Dispenser Slide Rail Hardware - With the tray extended out, use a phillips
screwdriver to remove the screws (3 on each side) that secure the slide rails
to the mounting brackets (Figure 11). Remove the slide rails (with mounting
tray attached) from the cabinet.

UprGRADE KT AsSSEMBLY PROCEDURES

1. Right Side Slide Assembly - On aflat surface, assemble the right side slide
assembly. Extend one of the slide rails (Figure 1) and secure to the dlide Figure 11. Remove slide railswitray.
spacer bracket with four (4) Truss phillip head screws (Figures 1 and 2).

Mount this assembly to the right cabinet bracket shown in Figure 3. Using a 7/16" nut driver, secure the assembly to
the cabinet bracket using two (2) 3/8" hex boltsand lock washers. When installed, the sliderail (pushed in) should be
even with the door flange (Figure 4).

Figure 3. Cabinet bracket. Figure 4. Assembly mounted to cabinet.

Figure 2. Side rail/spacer assembly.

All of these holes line up
when mounfi ng slide in

RIGHT SIDE MOUNTING ONLY %ihe right side of
the cabinst /\

3rd use this hole to mount slids

2nd use this hole to mount sli de

1st Allign this hole with the last hole in the spacer bracket

I [ J
& Triton.
WHERE MONEY COMES FROM.™

ATV s



TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

2. Left Side Slide Rail - Mount the other sliderail to the left cabinet bracket (Figure 5) using four (4) Truss phillip head
screws (Figure 6). Use the diagram below for screw locations. Note: When installing slide rail, ensure the power/
phone cables are “tucked” behind the cabinet bracket as shown in Figure 5. Sliderailswill be offset when extended.

Figure 5. Cabinet bracket. Figure 6. Siderail installed.
All of these h_oles F_ine up
g o e b LEFT SIDE MOUNTING ONLY
the cabinet /\ /
e - ® - i L - =T : 1|

\—ard use this hole to mount slide

2nd use this hole to mount side

3. Electronic Journal (EJ) and Bracket - The EJ (yellow), bracket, and cables (2 - EJto dispenser, EJ to docking board)
should be pre-assembled in the kit. If they are not, use Figure 7 as areference for assembly. Locate the two (2) bolts
in the upper right of the vault area (Figure 8). Mount the EJ assembly to the bolts (cable connects towards rear of
cabinet) and secure with the two (2) Kep nuts provided using a 7/16" nut driver (Figure 9).

Figure 7. EJ and hardware assembly.  Figure 8. Mounting bolt location. Figure 9. EJ mounted.

4. Dispenser Ground - Remove the cabinet ground bolt (Figure 10), if installed. If no bolt isavailable, oneisincludedin
the kit. Install the dispenser ground wire included and secure both ground wires with the bolt previously removed or
oneincluded (Figure 11). The other end of ground wire will attach to the NMD-50 when installed.

ki

Dispenser ground

Figure 10. Remove door ground bolt. Figure 11. Dispenser ground installed.

[ [y -] E—



SecTioN 1 - ConvERSION WITH “ OLDER” STYLE CABINETS (W/T-HANDLE)

5. Dispenser Power and Data Cables - Feed the EJ to Docking board cable (RJ-45 connector end) through the control
panel access hole shown in Figure 12. Feed the dispenser power cable (insert) also up to the control panel (10-pin
connector end). These 2 cables will be connected in later steps. Route the 2 cables in the vault area (EJ to dispenser,
dispenser power cable end) in the existing cabinet cable clips (Figure 13).

Dispenser power cable

Figure 12. EJ to Docking board cable. Figure 13. Route power/data cables.

5. Dispenser - Extend the slides fully. Ensure all cables in vault area have been moved out of way before installing
mechanism. Remove cardboard support from mechanism cassettes. With 2-personnel, lift the NMD-50 by the green
handles and align the rails on the dispenser with the slide rails. Start inserting the rail on the RIGHT first, then the
LEFT dueto the offset of therails (Figure 14). Slide mechanism up to therail stops, then pushthe RIGHT releasein,
then LEFT (Figure 15) and continue sliding mechanism fully into cabinet. Repeat extending/inserting mechanism
into cabinet afew times to ensure no binding on sliderails.

Releasetab

o &)

Figure 14. Rails extended (offset). Figure 15. Push release tabs* in”.

6. Dispenser Cables- Connect the power, data, and ground wires to the NMD-50 as shown in Figures 16 and 17. Route
the cables through the cable clips attached to the mechanism covers (Figure 18). Ground wire routes down behind
slide and through the lower cable clips.

s PN
N

Groundyvir_é’r'buting_
S o

Figure 16. Power cable connection. Figure 17. Data/ground connections. Figure 18. Route cables thru clips.

[ (4] </ (—

#2DOVER)



TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

7. Power Supply/Cables - Open the control panel. Connect the EJ to Docking
board cable (RJ-45 connector end) tothe“Auxillary” port of Docking board.
Route the cable through the cable guides (see Figure 4, “ Disassembly
Procedures’). Next, install the new power supply by reversing the procedures
in Sep 1, “Disassembly Procedures’. Reconnect all power cables (AC/
DC) to the power supply (Figure 19). Reconnect ATM power cord to wall

outlet, if applicable.

The following illustrations show the installation of the slide catch bracket to the
dispenser dlide rail. Tool required is a #2 flat-tip screwdriver. Installation time
approximately lessthan 5 minutes. See table below to determine which type and

placement for the catch bracket.

03011-02433 '\ 03011-02032

(Business Hours / T-Handle)

NM D-50 Slide Sop (M odel / Placement) i Digyh, NEA A :
(Acut - \(L-bracket)
M odel / Cabinet Bracket # Placement i 'ang|e s e A
RLSLLS 03011-02032 Right side

Sep 1

Sep 2

Fully extend mechanism. Remove screw shown from Right  Slide catch bracket through slot on front of rail (L-shaped or
or Left siderail (seetable). Retain screw.

Step 3

Secure bracket with screw previously removed.

angle end pointing out).

L-Bracket

Sep 4

Slide mechanism back in cabinet.

~ [J
& Triton:
WHERE MONEY COMES FROM.™
2 TOOVER) comm



SecTioN 2 - ConvERSION WITH “ CURRENT” STYLE CABINETS (W/LIFT HANDLE)

REQuUIRED PARTSAND TOOLS

TOOLS REQUIRED

Slotted and Phillips Screwdrivers
11/32" (9mm) and 7/16" (11 mm) Nut Driver

TDM to NM D-50 CONVERSION KIT (P/N 06200-00103)

"Lift Handle" Cabinet

PARTS SUPPLIED

PART NUM BER

DESCRIPTION

QUANTITY

09200-00009

Power Supply

1

09005-00120

NMD-50 Mechanism (w/2 Cassettes and Reject Vaullt)

03011-02033

Bracket, Acute Angle, Slide Stop

02054-00209

Screw, 4mm x 10mm, Low Profile, Slotted Panhead

03011-00104

Handle Bracket (Dispenser)

01060-00416

Connector, Quick Connect, Molex

03072-00009

Clip, Panduit Adhesive Cable

03082-00000

Custom Slide, 18"

03011-00720

Left Slide Bracket

03011-00721

Right Slide Bracket

09600-00057

Data Cable, EJ to Mech

09120-00117

DC Power Cable, NMD-50

09600-02036

EJ Module, Yellow

03011-00389

Bracket, EJ

09120-00367

Ground Wire, NMD-50

02301-00004 Hex Nut, #8-32, Ext.Tooth Washer, Zinc
02301-00037 Kep Nut, 1/4-20
02054-00048 Screw, #8-32 x 3/8", Truss Phillips Head, Zinc

03072-00015

Ty Wrap

03072-00002

Snap-in Connector, Plastic

07100-00024

Model RL5000 Quick Reference Card (NMD-50)

07102-00062

TDM to NMD-50 Conversion Procedures (RL5000)

Rlrlrlw]loNv]OolrRrlrRr]lIR]IrR]IrR]IRr]IdMIOIRINMIOIR]| -

I [ J
& Triton.
WHERE MONEY COMES FROM.™
OVER

ATDOVER) conpurr




TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

DisasseEmBLY PROCEDURES

Before proceeding, follow these steps to remove power from the ATM:

Enter M anagement Functions > System Parameter s> Shut Down the Terminal. When prompted, turn power OFF on the
ATMs power supply. Unlock and open the ATM control panel. Turn the power switch to the OFF (0) position. If possible,
unplug the ATM power cord at the wall outlet.

1. Power Supply - Open the control panel. Disconnect all cables (AC/DC) from the terminal power supply (Figure 1).
Lift the control panel slightly. Using an 11/32" nut driver, loosen the two (2) nuts that secure the power supply to the
cabinet (Figure 2). Slide the power supply towards the rear of cabinet and remove from the unit.

Figure 1. Disconnect all cables from power supply. Figure 2. Loosen the 2 nuts that secure power supply.

2. Dispenser Cable Harness - Using a 7/16" nut driver, remove the screw that secures the ground wire (Figure 3). After
removing the ground wire, reinstall the screw. Next, disconnect the Dispenser data cable (RJ-45 end) connected to
the Docking board assembly. L oosen/turn the cable bundle guides (Figure 4) and separate data cable from bundle.
Feed the dispenser data, power, and ground wire harness down to the vault area through the cable access hole in
Figure 5.

Figure 3. Disconnect ground wire. Figure 4. Loosen guides. Figure5. Feed cablesdowntovault area.

3. TDM Dispenser - Open the cabinet vault door. Release the locking slide rail and fully extend the dispenser from the
cabinet. Rotate the dispenser mounting platform 180° to the “ Service” position. Locate the spring-loaded locking pin
on the underside of the mounting tray (Figure 6). Pull the pin down and turn the tray clockwise (Figure 7) so the note
and reject cassettes can be accessed from the front. Release the locking pin and move the platform back and forth
dlightly to ensure the pin snaps into place to the “ Service” position (Figure 8).

Figure 6. Pull release pin. Figure 7. Rotate mechanism* clockwise”.  Figure8. Mechin* Service” position.

S . 10
s‘ Tr’ tan ?VHERE MONEY COMES FROM.™
. courun



SecTioN 2 - CoNvERSION WITH “ CURRENT” STYLE CABINETS (W/LIFT HANDLE)

4. Disconnect the power and communication (Comms) cablesfrom the dispenser (Figure 9). Carefully cut any Ty wraps
that are securing the cabl esto the dispenser. Remove the cablesfrom the cabinet. Remove the note and reject cassettes.
Using a phillips-head screwdriver, remove the four (4) or six (6) mounting screws that secure the dispenser to the
swivel platform (Figure 10). Remove the TDM dispenser mechanism.

- __Ferrite

Ko

Figure9. Power and Comm cable disconnected. Figure 10. Remove mounting screws.

6. Dispenser Slide Rail Hardware - With the tray extended out, use a phillips screwdriver to remove the screws (3 on
each side) that secure the slide rail s to the mounting brackets (Figure 11). Remove the slide rails (with mounting tray
attached) from the cabinet.

7. Mounting Brackets- Using an 11/32" nut driver, loosen the two (2) nutsthat secure the bracketsto the cabinet (Figure
11). Remove the brackets. These will be replaced. Start two (2) more nuts (one each side) to the third bolt closest to
rear of cabinet (Figure 12). Note: The cabinet ground wire is attached to the left side front bolt. You will have to
temporarily remove this nut to remove the ground wire lug. Nut will be attached in later steps.

Hex nuts
w/tooth
washer

Figure 11. Sderailsremoved. Figure 12. Nuts started on bolts.

8. Tray Stop (Door) - Locate the tray stop mounted on the door (Figure 13).
Remove thisitem from the door using a 7/16" nut driver..

Figure 13. Remove tray stop.

1 1 N [ ]
B Triton........cu .
TDOVER ) conrr

A DOVER)



TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

UPGRADE KI1T AsseMBLY PROCEDURES

1. Electronic Journal (EJ) and Bracket - The EJ (yellow), bracket, and cables (2 - EJ to dispenser, EJ to docking board)
should be pre-assembled in the kit. If they are not, use Figure 1 as areference for assembly. Locate the two (2) bolts
in the upper right, rear of the vault area (Figure 2). Mount the EJ assembly to the bolts (cabl e connects towards top of
cabinet, Figure 3) and secure with the two (2) Kep nuts provided using a 7/16" nut driver.

Figure 1. EJ and hardware assembly. Figure 2. Mounting bolt location. Figure 3. EJ mounted.

2. Slide Rail Mounting Brackets - Locate the two (2) mounting bracketsin kit (Figure 4). ThereisaLeft (L) and Right
(R) specific. Mount brackets by first starting backslot (Figure 5) on the rear screw and rotating down over the other
two (2) screws. Using an 11/32" nut driver, secure the hex nuts.

* Impor tant*
Q! > Ensureall screwsarefully seated
M ounting br ackets in the bracket slots and not
: : Y resting on bracket. Brackets
must be level when installed!

Figure 4. Rail mounting brackets. Figure 5. Mount bracket on rear screw
first, then rotate down.

3. SlideAssemblies- Install sliderailsto the mounting brackets. Start atruss phillips screw in the second to last hole of
the slide assembly first (Figure 6). Extend rails out and install the other two (2) screws and secure all. Push in slide
rails. When installed correctly, the front of slide rails will be flush with mounting brackets (Figures 7 and 8).

Figure 6. Siderail.
m o -] I::i 5 !‘E‘F}l" ‘n a a =] @:E]

Figures 7 and 8.
Side rails flush w/bracket front.

S . 12
s‘ Tr’ tan ?VHERE MONEY COMES FROM.™
. courun



SecTioN 2 - CoNvERSION WITH “ CURRENT” STYLE CABINETS (W/LIFT HANDLE)

4. Dispenser/Cabinet Grounds - Reconnect the cabinet ground wireremoved in

Step 7 (page 11) to the front left screw. Install the dispenser ground wire
included and secure both ground wireswith the nut previously removed (Figure
9). The other end of dispenser ground wire will attach to the NMD-50 when
installed.

Dispenser Power and Data Cables - Feed the EJto Docking board cable (RJ-
45 connector end) through the control panel access hole. Feed the dispenser
power cable (insert) also up to the control panel (Figure 10). These 2 cables
will be connected in later steps. Route the 2 cables in the vault area (EJ to
dispenser, dispenser power cableend) intheexisting cabinet cableclips(Figure ~ Figure 9. Ground wires installed.
11).

Dispenser power cable

Figure 12. EJ and dispenser power cables. Figure 11. Route power/data cables.

6.

Dispenser - Extend the slides fully. Ensure all cables in vault area have been moved out of way before installing
mechanism. Remove cardboard support from mechanism cassettes. With 2-personnel, lift the NMD-50 by the green
handles and align therails on the dispenser with the sliderails. Insert therailsand slide mechanism up to therail stops
(Figure 12). Push therelease tabsin (Figure 13) and continue sliding mechanism fully into cabinet. Repeat extending/
inserting mechanism into cabinet afew times to ensure no binding on sliderails.

Releasetab

Figure 12. Insert mechanismto rail stop. Figure 13. Push release tab.

Dispenser Cables - Connect the power, data, and ground wires to the NMD-50 as shown in Figures 14 and 15. Route
the cables through the cable clips attached to the mechanism covers (Figure 16). Ground wire routes down behind
slide and through the lower cable clips. Note: Ensure ground wire doesn’t catch on cabinet shoulder bolts when
sliding mechanism into cabinet.

Figure 14. Power cable connection. Figure 15. Data/ground connections. Figure 16. Route cables thru clips.

13 = &
[ L]/ pom—



TDM-100/150 To NMD-50 CoNnvERSION PROCEDURES

8. Power Supply/Cables - Open the control panel. Connect the EJ to Docking
board cable (RJ-45 connector end) tothe“Auxillary” port of Docking board.
Route the cable through the cable guides (see Figure 4, “ Disassembly
Procedures’). Next, install the new power supply by reversing the procedures
in Sep 1, “Disassembly Procedures’. Reconnect all power cables (AC/
DC) to the power supply (Figure 17). Reconnect ATM power cord to wall
outlet, if applicable.

The following illustrations show the installation of the slide catch bracket to the
dispenser slide rail. Tool required is a #2 flat-tip screwdriver. Installation time
approximately lessthan 5 minutes. See table below to determine which type and
placement for the catch bracket.

03011-02433 '\

NM D-50 Slide Sop (M odel / Placement) ( Reft
M odel / Cabinet Bracket # Placement : _apgle
RL5115 o
(Business Hours / Lift-Handle) | 03011-02033 Right side
RL5125 .
(Level 1 - Vault 03011-02033 Left side
Sep 1 Sep 2
Fully extend mechanism. Remove screw shown from Right ~ Slide catch bracket through slot on front of rail (L-shaped or
or Left siderail (seetable). Retain screw. angle end pointing out).

Step 3 Sep 4
Secure bracket with screw previously removed. Slide mechanism back in cabinet.

. 14
B Triton........cu .
A compane




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


